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BALLT 27 TR
[:5d BE Al F.Lap
1 9 OVA45 45.689
2 7 F—LAE 46.492
3 3 NIV+IF 46.814
4 4 F—LDr. 46.934
5 2 SERFRE 47.106
6 6 MEAFHRaIFIIR 47.642
7 8 702z 78Q 48.146
8 5 SKPZ1Y/ 49.373
it 44
[:{ivd SH ZHi = F.Lap
1 6 MEFFERY19F1IR/ ALE - 46.755
2 3 NIIrIX/DFE 10 11.066 48.085
3 9 OVA45/Lhn &5 10 12.522 47.546
4 7 F—=LEE/ZD 10 17.032 48.348
5 2 SEBRRE/FITE 10 17.878 47.496
6 8 70x98Q/1BAE 10 21.662 47.927
7 5 SKPZ1Y /LWL 10 27.660 49.306
8 4 F—LDr./LIF7= 10 42112 47.802
rh ER i
NE {3z SHE 2 Laps = F.Lap
1 9 OVA45/Ub 10 - 45.306
2 6 MEFFHRIaAF1IR/ VRS 10 10.244 46.547
3 3 NIEIvIFR/5D2DHX 10 11.606 46.458
4 4 F—LDr./ErEDS 10 12.432 46.252
5 7 F—=LEE/HDL\L 10 20.976 47.348
6 5 SKPZ1Y/WEIcL 10 27.512 47477
7 8 702x78Q/H50 10 28.032 47.851
8 2 <SERERE/<E 8 2Laps 47.029
A
N {3z E5E A0 Laps = F.Lap
1 7 F—=LEE/LEES 10 - 46.762
2 2 CSERRE/ 25 10 11.535 46.500
3 6 MESFFERI2VFIIR/ BEE 10 13.225 47.571
4 4 F—LDr./ &S 10 13.906 47.246
5 3 NIvIF/HE 10 15.918 47.882
6 9 OVA45/L\ 02 10 16.438 46.990
7 5 SKPZ1Y /f=th 10 20.066 47.715
8 8 Z0x78Q/XktE 10 23.000 48.345
90t
& {iL SH 2 Hl Laps = F.Lap
1 9 OVA45 112 - 44.890
2 4 F—LDr. 111 1Lap 46.126
3 2 CSERRE 111 1Lap 45.908
4 6 MESFHR,aF217R 111 1Lap 46.338
5 3 NII+EF 110 2Laps 46.432
6 7 F—LAE 109 3Laps 45.968
7 8 78x78Q 107 5Laps 47.395
8 5 SKPZ1Y 106 6Laps 47.223




[ F—L AT | A4 /b =
1 OVA45 36 [ 8 | 1f | 15 | Ofu | 9 | 14 | 25 57
2 bESFFR2Fa9R | 1 | 12 | 20 | 12 | 3fi [ 12 | 44y | 12 48
3 NIvSF 201 | 10 | 3fu | 10 | 5 [ 10 [ 5fi | 10 40
4 F—ALDr. 867 | 1 | 4fu | 8 | 4fu | 11 | 2fii [ 18 38
5 F—LAEE A | 6 | 5| 6 | 1fi | 18 | 6fii [ 8 38
6 c<ERRE Sif | 4 | 8fi | 2 [ 2fF | 15 | 3fii | 15 36
7 Za>z7hQ 6fi | 2 | /| 2 [8fu| 7 |fii| 6 17
8 SKPZ1Y M | 1 [efi| 4 | 76| 8 [8fi| 4 17
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